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Fourth Semester MBA Degree Exami4ation, Jan./Feb, 2023
Gorporate Vaftiation :

Time:3 hrs.
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Note: 1.. Answer any FOUR
2. Question No. I
3. Use of fn

What are the three compo
Max steel is an unlisted

Ei table is permittedi*ryf:':*

A? &ry'l:'

There are 3 listed tirmS,-P1;p and R, engaged in sjffisteel
debt-eouitv ratios and #a"i[?ates are as follows:
Listed Comoaniesi, Efiuitv beta Debt-eouitv ratio Tax rate

P 
,,,:,:l;.,,.a . .=+

R.,, "' ..*

=::: 1.1

1,.2

1.05

1..?=i;::,,=

frk>
T-ryB,*

0.30
0.25
0.3s

What is ty beta for Max Steels? a:

(03 Marks)
any where ity ratio is 1.6 and tax rate is 25o/o.

business. Their equity betas,

(07 Marks)
(10 Marks)c.

2a-
b.
c.

What is Bankruptcy? *;ru 
",*_dlb* 4, (03 Marks)

Discuss the situation in whig.h G6rporate Valuationiiffi{ffh ,@ (07Marks)
The following information is available for XYZ Ltd.: fo.;"
ROE = 20%, K : l5lo; DPR = 0.4,"..g "* l2o/o, Book value per share : Rs.50,
Net profit marsin = lloh. Calculate the follofuffiTorXYZ Ltd..,,. +

3a.
b.
c.

qsq 
::

'6fVBM adapter.

Rs. Million

(10 Marks)

(03 Marks)
(07 Marks)

llrterestbearuredebt .- ir500 1400 1300 1200 I 100 I

,. - lrnt.r.ep,l*r""i. &t.J 'oo 
| +s | :a I z+ | rz 

I

q,%',,[alculate the enteiffdS-e value of optex limited using the following assumptions:
(i) Beyond ye#hrthe free cash-.fu to the firm of optex will grow at a constant rate of

l0o/oper annum.
(iD Opte*?.4$evered cost of e{tfry is t+N.
(iii) After yelr 5, optex will maintain a debt-equity ratio 4:7 .(iii) After yeir 5, optex wi[ mriintain a debt-equity ratio 4:7 .

(iv) The borrowing rate.@m.ihptex will be l2o/o.

(v) The tax rate for opffix-is 30%.
("i) The risk-free rate-is'8Yo.
(vii) The marketr,isk premium is 60/o. (10 Marks)

'1 -

4 a. What is infomtia*igii'al asymmetry? (03 Marks)
b. Briefly explar;r tlfle steps involved in relativg valuation. (07 Marks)

c. Discuss_ffie broad approaches used for valuing a company (10 Marks)

1ffi' tof?

:

.'''''" Max. Marks:100.-
from QNo.l k Q.No.7.

^q.

Free cashiflow to *re firm 250
400
48



5a,
b.
c.

6a.
b.
c.

7a.
b.
c.

,a:

d'
y;qa{, Ption
,.*di:,::4 '

List out the steps involved in kon approach.

Briefly explain the non- hes to compan

Discuss the guidelines valuation. :,

What are the deteffii&Fnts of shareho.lders valqe agcording to Rapport?

Explain the bestpryrctices using multiples' "

;;J;,h; ildffiand objectlves to sharffif$acks'

.!r q;... I

The profit'and loss account and
t-^t^.,,.*u '$'

#

balatr,ce\heet of Kiran Corporation
ISS!.;&$''"'r -" - 4S* 'y'

(03 Marks)
(07 Marks)
(10 Marks)

(03 Marks)
(07 MarkS)
(10 Marks)

for two years are given

below.:' .*,ff,+s
.::.

Pro&;Shd Loss A/C (Rs. iqaffiion
edr t b 2021

lnterest on expedm
Total cqsSpdexpenses :

PBT ffi*$" * *

Tax provision' ,,, .l
ts "1: q-

Divid%d **=#

Pd.rm\-X -ominoc d

,5600' 140
70

6440
2t0
14"0

s810 61p

3220
700
q0

*,{gs6

ffi#,,sCI
Y"10

420
392

ffi[606 5362
t204
364
840
420
420

t428
448
980
s60
420

,d

4d!lili$&;:+

$.eli-1lu'

.sffijiffi

tl,-

{u*:l:,1 o

_d!

Balance sh&t'*6Rs. tn Million
flq&,Jiabilities zffi' 2021 Assets 2020 202t

Equlty capital d\
Reserves & sugx!,ue;

Debt {*p6"""

100v
1680
2524

2100
2100
2940

Fixed assets

Investments
Net C.A.

4200
t260
840

4550
1400
1 190

6300 7r40 6300 7r40

Assume a tax rate of 40%.
(i) What is ttrg%BIT and tax on EBIT for year 2021?

iiil what is dTeTOPLAT'for year 2021?

(iii) What is;thfFree Cash Flow to the Firur (FCFE) for year 2021?

(iv) Give the break-up of the financing flow for yeat 2021.
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What are the sources ofuncertainty in valuation? 'fu. "A (03 Marks)

f,*plain the role of Government and Security M.q\# Srlqb valuation' (07 Marks)

Laxmi Capital Ventures, a PE investor, is ctnsid&investing 500 million in the equity of

xYZ,a start-up rr co-pany Laxmi's requrcde4iPif retum from this investment is 40Yo

and iis planned^ holding p"Ata is 4 v-e11' {JZF.!s projected,* EB.H.# 
"^Yoo 

million

for year 4. An EBITfA multiple oi O fo,4, ,}e + is considered reasoflh$.le. At the end of

year 4,XYZ isr*"ry to r,rlr" , i"u, 9f 1Sffiitt]ig *u.' 
"u:.hl"1T:d=S''zOo-ittio"'(ij 'irr,* o*o"rrdip share is xyzpqfu-sfrtuld I,axmicapital v;nl+res ask for?

fiU What is the posi-money investmenl value ofthe firm's eouiw?

fiiil whati,th"pJ-;;;;;#BTdvarue? d 
"" - (l0Marks)

"{i.

(20 Marks)


